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  PR 90

F nasip= 1.10

L pos= 4.23

F TAMPON1= 0.34

F bankina = 0.15

L podtlo= 1.84

F TAMPON2= 0.78

F iskopa= 1.24

L BNS=3.00

F kanala= 0.00

  PR 92

F nasip= 0.38

L pos= 4.63

F TAMPON1= 0.34

F bankina = 0.15

L podtlo= 1.27

F TAMPON2= 0.78

F iskopa= 0.43

L BNS=3.00

F kanala= 0.00

  PR 93

F nasip= 0.00

L pos= 4.92

F TAMPON1= 0.34

F bankina = 0.24

L podtlo= 0.00

F TAMPON2= 0.78

F iskopa= 0.79

L BNS=3.00

F kanala= 0.00

PR 91    0+694.24
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  PR 91

F nasip= 0.00

L pos= 4.38

F TAMPON1= 0.34

F bankina = 0.68

L podtlo= 1.60

F TAMPON2= 0.78

F iskopa= 0.65

L BNS=3.00

F kanala= 0.00
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